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1. A parabola is defined as the set of points in the plane that are equidistant from a fixed point (called the
focus of the parabola) and a fixed line (called the directrix of the parabola).

Consider the parabola with focus point (1, 1) and directrix the horizontal line y = —3.

a. What are the coordinates of the vertex of the parabola?

b. Plot the focus and draw the directrix on the graph below. Then draw a rough sketch of the parabola.
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c. Find the equation of the parabola with this focus and directrix.

d. What s the y-intercept of this parabola?

e. Demonstrate that your answer from part (d) is correct by showing that the y-intercept you identified
is indeed equidistant from the focus and the directrix.
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f.  Is the parabola in this question (with focus point (1, 1) and directrix y = —3) congruent to a
parabola with focus (2, 3) and directrix y = —1? Explain.

g. Isthe parabola in this question (with focus point (1, 1) and directrix y = —3) congruent to the
parabola with equation given by y = x2? Explain.

h. Are the two parabolas from part (g) similar? Why or why not?
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2. The graph of the polynomial function f(x) = x3 + 4x? + 6x + 4 is shown below.
y

E

A

a. Based on the appearance of the graph, what does the real solution to the equation
x3 +4x? + 6x + 4 = 0 appear to be? Jiju does not trust the accuracy of the graph. Prove to her
algebraically that your answer is in fact a zero of y = f(x).

b. Write f as a product of a linear factor and a quadratic factor, each with real-number coefficients.
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c.  Whatis the value of f(10)? Explain how knowing the linear factor of f establishes that f(10) is a
multiple of 12.

d. Find the two complex-number zeros of y = f(x).

e. Write f as a product of three linear factors.
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3. Aline passes through the points (—1,0) and P = (0, t) for some real number t and intersects the circle
x? + y? = 1 at a point Q different from (—1,0).

S

a. Ift= %, so that the point P has coordinates (0,%), find the coordinates of the point Q.
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A Pythagorean triple is a set of three positive integers a, b, and c satisfying a®> + b? = c?. For example,
settinga = 3, b = 4, and ¢ = 5 gives a Pythagorean triple.

b. Suppose that (%,g) is a point with rational-number coordinates lying on the circle x% + y2 = 1.
Explain why then a, b, and ¢ form a Pythagorean triple.

5 12

—, ) on the circle?
13713

¢.  Which Pythagorean triple is associated with the point Q = (

d IfQ= (15—3%), what is the value of t so that the point P has coordinates (0, t)?
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—t2 2t . .
andy = o for a real number t. Show that (x, y) is then a point on the

1
e. Suppose we set x =
PP 1+t2

circle x? + y2 = 1.

3. 1-t?
f. Sett =-intheformulasx = —;
4 1+t

andy = 21;2. Which point on the circle x? + y? = 1 does this

1+
give? What is the associated Pythagorean triple?

COMMON Module 1: Polynomial, Rational, and Radical Relationships n
CORE engage™

Date: 1/18/15

) This work is licensed under a
© 2014 Common Core, Inc. Some rights reserved. commoncore.org (r.:c) BY-NC-SA Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.



http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US

NYS COMMON CORE MATHEMATICS CURRICULUM End-of-Module Assessment Task m

g.

ALGEBRA Il

Suppose t is a value greater than 1, P = (0, t), and Q is the point in the second quadrant (different
from (=1, 0)) at which the line through (—1,0) and P intersects the circle x? + y2? = 1. Find the
coordinates of the point Q in terms of t.
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4.

a. Write a system of two equations in two variables where one equation is quadratic and the other is
linear such that the system has no solution. Explain, using graphs, algebra, and/or words, why the
system has no solution.

b. Prove that x = v—5x — 6 has no solution.
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c. Does the following system of equations have a solution? If so, find one. If not, explain why not.

2x+y+z=4
x—y+3z=-2
—x+ty+z=-2
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STEP 1 STEP 2 STEP 3 STEP 4
Assessment Missing or Missing or incorrect | A correct answer A correct answer
Task Item incorrect answer | answer but with some evidence | supported by
and little evidence of some of reasoning or substantial
evidence of reasoning or application of evidence of solid
reasoning or application of mathematics to reasoning or
application of mathematics to solve the problem application of
mathematics to solve the problem. | or anincorrect mathematics to
solve the answer with solve the problem.
problem. substantial
evidence of solid
reasoning or
application of
mathematics to
solve the problem.
1 a—C (a) Student provides (a) Student provides (a) Student provides the (a) Student provides the
incorrect vertex either an incorrect x- or | correct vertex. correct vertex.
coordinates. y-coordinate. (b) Student provides a (b) Student provides a
N-Q.A.2 (b) Student sketchesa | (b) Student provides a sketch of a parabola that | well-labeled and
F-IF.C.7c parabola that does not | sketch of a parabola that | opens up with correct accurate sketch of a
G-GPE.A.2 | openuporaparabola | opens up but with little vertex. The sketch may parabola that opens up
that is horizontal. or no scale or labels. be incomplete or lack and includes the focus,
(c) Student provides (c) Student provides an sufficient labels or scale. | directrix, and vertex.
an equation that is not | incorrect equation using | (c) Student provides a (c) Student provides the
in the form of a the vertex from part (a); parabola equation with correct parabola
vertical parabola. a-value is incorrect due correct vertex. Work equation in vertex or
to conceptual errors. showing a-value standard form with or
calculation may contain without work showing
minor errors. how a = %,
d—e (d) Student provides (d) Student provides (d) Student substitutes (d) Student correctly
incorrect y-intercept. incorrect y-intercept. x = 0 to determine the identifies the y-
No work is shown ora | No work is shown or a y-intercept, but may intercept.
N-Q.A.2 conceptual error is conceptual error is made | make a minor calculation | (e) Student correctly
F-IF.C.7c made. (e.g., y = Oinstead of error. identifies the distance to
G-GPE.A.2 | (e) Student makes no x =0). (e) Student provides the | directrix and applies the
attempt or provides (e) Student provides one | correct distance to the distance formula to
two incorrect correct distance but not directrix using student’s calculate the distance
distances. both, using student’s y-intercept. Student from focus and y-
incorrect y-intercept and | provides the correct intercept. Both are
the given focus and distance between focus equal to 17
directrix. and y-intercept using 8
OR student’s y-intercept.
Student provides the Note that if these are
correct y-intercept in not equal, the student
part (d), but the student | solution should indicate
is unable to compute that they should be
one or both distances based on the definition
COMMON Module 1: Polynomial, Rational, and Radical Relationships ny
CORE me: 118/ engage

© 2014 Common Core, Inc. Some rights reserved. commoncore.org

This work is licensed under a

ir.:c BY-NC-SA Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.

476


http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US

NYS COMMON CORE MATHEMATICS CURRICULUM

End-of-Module Assessment Task m

ALGEBRA Il

between the y-intercept | of a parabola.
and the given focus and
directrix.

f-h Student incorrectly Student incorrectly Student correctly Student correctly
answers two or more answers two or more answers all three parts answers all three parts.
parts with no parts. Minimal with no justification. Justification states that

N-Q.A.2 S e . .
justification in all justification is provided OR parabolas with equal a-
F-IF.C.7c three parts. that includes a reference | Student correctly values are congruent,
G-GPE.A.2 | OR to the a-value. answers two out of three | but all parabolas are
Student incorrectly parts with correct similar.
answers all three parts justification.
with faulty or no
justification.

2 a-b (a) Student concludes (a) Student concludes (a) Student concludes (a) Student concludes
that x = —2is NOT a thatx = —2isNOT a that x = —2 is a zero, that x = —2 is a zero by
zero due to zero due to minor but may not support this | showing f(—2) = 0 or

A-SSE.A.2 conceptual or major calculation errors and mathematically or using division and getting
A-APR.A.1 | calculation errors provides limited verbally. a remainder equal to 0.
A-APR.B.2 | (e.g., incorrect justification for the (b) Student correctly Work or written
A-APR.B.3 | application of division | solution. identifies both factors, explanation supports
algorithm) (b) Student does not but the polynomial may conclusion.
A-REI.LA.1 . . . . .
OR provide factored form or | not be written in (b) Student writes f in
A-REI.B.4b Student shows no it is incorrect. factored form correct factored form
F-IF.C.7c | workatall. ((x+2)(x2 + 2x+2)). | and provides work to
(b) Student does not support the solution.
provide factored form Note that the work may
or it is incorrect. be done in part (a).
c Student provides an Student provides an Student provides a Student correctly
incorrect value of incorrect value of f(10) | complete solution, but identifies the solution as
f(10)anda and an incorrect the solution may contain | f(10) = 1464.
A-SSE.A.2 . . . . )
conclusion regarding factored form of f. The minor calculation errors The explanation clearly
A-APR.B.2 | 12 being a factor is student does not on the value of f(10). communicates that 12 is
A-APR.B.3 | missing or attempt to find the OR a factor of f(10), i.e.,
A-RELA.1 unsupported by any numerical factors of Student concludes that whenx =10, (x + 2) is
A-REL.B.4b mathematical work or | f(10) or divide f(10) by | 12 is NOT a factor of 12.
o explanation. 12 to see if the £(10) because the
F-IF.C.7c remainder is 0. student used an
incorrectly factored form
of f in the first place or
an incorrect value for
f(10).

d—e (d) Student does not (d) Student makes minor | (d) Student provides the (d) Student provides the
use quadratic formula | errors in the quadratic correct complex roots correct complex roots
or uses incorrect formula and provides using the quadratic expressed as (—1 + i).

A-SSE.A.2 formula. incorrect roots. formula (does not have (e) Student provides a
A-APR.A.1 (e) Student provides (e) Student uses the to be in simplest form). cubic polynomial
A-APR.B.2 | incorrect complex incorrect roots from (d), (e) Student provides a equivalent to
A-APR.B.3 | rootsand the solution | but the solutionis a cubic polynomial using x+2D(x—1+D)(x—
A-RELA.1 is not a cubic cubic equivalent to —2 and complex roots (1-10). Itis acceptable
equivalent to x+2)x—1r)(x—1), from (d). May contain to leave it in factored
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A-REI.B.4b | (x+2)(x —1)(x—1,), | wherer; andr, are the minor errors (e.g., form.
E-IE.C.7¢ where r; and r, are student solutions to (d). leaving out parentheses
complex conjugates. on(x—(1+i)ora
multiplication error
when writing the
polynomial in standard
form.

3 a Student provides an Student provides an Student provides the Student provides the
incorrect equation of incorrect equation of the | correct equation of the correct equation of the
the line and makes line, but the solution line. The solution to the line and the correct

A-APR.C.4 major mathematical shows substitution of system may contain solution to the system of
A-APR.D.6 | errorsin attempting to | the student’s linear minor calculation errors. | equations. The solution
A-APR.D.7 | solve a system of a equation into the circle The correct solution is is expressed as an
A-REILA.2 | linearand non-linear | equation. The solution | not expressed as an ordered pair, Q (E,i).
A-REL.C.6 equation. to the system may also ordered pair or the 5°5

contain minor solution only includes a
A-REI.C.7 calculation errors. correct x- or y-value for

OR point Q.

Student provides a

correct equation of the

line, but the student is

unable to solve the

system due to major

mathematical errors.

b—c (b) Student does not (b) Student substitutes (b) Student provides an (b) Student provides a

provide an answer or (2’2) into the equation | almost-complete correct solution showing
A-APR.C.4 the answer i.s incorrect o?tﬁe circle, but fails to solution (i.e., student substitution of (%‘g)
showing limited how that this equation | Substitutes (2'2) into into the equation of a
A-APR.D.6 | ynderstanding of they showt 4 e . . g
is equivalent to the equation of the circle | circle. The work clearly
A-APR.D.7 | were asked to do. 2012 2 . .
a®+ b =c°. and states that the point | demonstrates this
A-REI.A.2 (c) St.:dent f:lcies ngt. (c) Student provides an satisfies the Pythagorean | equation is equivalent to
A-REI.C.6 &r:g:r:c? tripleoritis | correct triple. Triple condition but a? +b% = c2.
A-REL.C.7 ' doesn’t show why). The | (c) Student identifies 5,
solution may contain 12, 13 as the triple.
minor algebra mistakes.
(c) Student identifies 5,
12, 13 as the triple.

d-f Student does not (d) Student provides (d) Student provides the | (d) Student provides the
provide a solution or correct slope of the line correct slope and correct slope and
provides an but fails to identify equation of the line but equation of the line and

A-APR.C.4 incomplete solution to | correct value of t. fails to identify the correctly identifies the t-
A-APR.D.6 (d), (e), and (f) with (e) Student substitutes correct value of t. value.
A-APR.D.7 | major mathematical coordinates into (e) Student substitutes (e) Student substitutes
A-RELLA.2 errors. x? + y2 = 1, but makes coordinates into coordinates into
A-REL.C.6 major errors in attempt | x2 +y% = 1 and x?+y?=1and

to show they satisfy the simplifies to show they simplifies to show they
A-REI.C.7 equation. satisfy the equation. satisfy the equation.

(f) Student substitutes % (f) Student identifies (f) Student identifies

for t, but the solution is point Q and the triple point Q and the triple

incorrect. correctly. correctly.
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Note that one or more Note that all solutions

parts may contain minor | use proper mathematical

calculation errors. notation and clearly
demonstrate student
understanding.

g Student does not The solution may include | Student attempts to Student provides a
provide a solution or an accurate sketch and solve the system by complete and correct
provides an the equation of the line substitutingy = tx + ¢ solution, showing

A-APR.C.4 incomplete solution y = tx + t but little into the circle equation sufficient work and
A-APR.D.6 | with major additional work. and recognizes the need | calculation of both the x-
A-APR.D.7 | mathematical errors. to apply the quadratic and y-coordinate of the
A-REI.A.2 equation to solve for x. point.
A-REL.C.6 May contain algebraic
errors.
A-REI.C.7
4 a Student does not Student provides a Student provides a Student provides a
provide work or it is system that has a system that does not system that does not
incomplete. System solution, but student have a solution, but the have a solution.
A-REL.A.2 does not include a work indicates justification may reveal Justification includes a
A-REL.B.4b | jinear and quadratic understanding that the minor errors in student’s | graphical, verbal
A-REI.C.6 | equation. graphs of the equations thought process. If a explanation, or algebraic
A-REI.C.7 should not intersect or graphical justification is explanation that clearly
that algebraically the the only one provided demonstrates student
system has no real the graph must be scaled | thinking.
number solutions. sufficiently to provide a
convincing argument
that the two equations
do not intersect.

b—c Student provides Student provides Student provides Student provides correct
incorrect solutions incorrect solutions to incorrect solutions to solutions with sufficient
with little or no parts (b) and (c). part (b) or part (c). work shown.

A-REL.A.2 supporting work Solutions are limited and | Solutions show AND
A-REL.B.4b | shown. reveal major considerable Mathematical work
A-REIL.C.6 mathematical errors in understanding of the or verbal explanation
A-REI.C.7 the solution process. processes, but may show why —2 and —3
contain minor errors. are NOT solutions to part
(b).
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Name Date

1. A parabola is defined as the set of points in the plane that are equidistant from a fixed point (called the
focus of the parabola) and a fixed line (called the directrix of the parabola).

Consider the parabola with focus point (1, 1) and directrix the horizontal line y = —3.

a. What are the coordinates of the vertex of the parabola?

(_\ "~ \\

b. Plot the focus and draw the directrix on the graph below. Then draw a rough sketch of the parabola.

AN
J
S

1]
A}
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c. Find the equation of the parabola with this focus and directrix.

N 90\‘;\"6 (’k—a!{;‘} on Yo an‘@dno\.a.. S eabs\g\sw&, Scom
t\e dreck\X and e Locus-
Wrb= J(ever (-
Qﬁt"s\mz (x-Q0\E+x Ltﬁ- Ny
Lrg"r (aLSr q= (x-\\"* Lﬁz-l«ﬁ-'r\
By ()-8
- -\
LS-: :‘((/\L-—\

d. What s the y-intercept of this parabola?

o« =

o A RNE N g =
bs‘:. e lﬁ-\d\&-exr_q\.) ’\(,:O v SO LS- %( \\ \ 3

- % s We o \nhercegk.

e. Demonstrate that your answer from part (d) is correct by showing that the y-intercept you identified
is indeed equidistant from the focus and the directrix.

The Avskaunce of% (O, ‘%\ Sv(-om A\ne Nocus \§

RN T = %4 | \>

V-0 (- -W R S'ZF\ R,

T\(\Z_ &*S\Mﬁe st (O) ‘% g\'(‘om S\ \;\V\Q Ls:?) LS,
\(—“—s,,\- L-B\\ - 2N

—‘\\gse axe "(a\f\e SQ—MQ\,
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f. Is the parabola in this question (with focus point (1, 1) and directrix y = —3) congruent to a
parabola with focus (2, 3) and directrix y = —1? Explain.

TVe paravmola Lo Socas ("L\?D and dvechdix L§="'\
Ls k{)-\-\-:- WL R ic\_\l\w\tﬁ g—or- oy (Lﬁfd“-'- (’SC&—'I}\L"‘Q-S‘S\-LJ
Uyx Loy \= (2 vy -G

Dz e-UVVERD

oy gy
TS paxawola 15 conagoent ko the Qarabola wivn
Gecus eomk (LD ans Aeeckelix = "3 \eecause e
Lee-.c\_‘w\o\ coeSfihdenks are ke same.

g. Isthe parabola in this question (with focus point (1, 1) and directrix y = —3) congruent to the
parabola with equation given by y = x2? Explain.

Noy = X @nd o _\5(«_\\1.\.\ Ao aok \owk Xhe Same
\.e og&‘w\os well\enk So &V\eus axe nox Co(\%(‘uqq\-\,
L\ﬁ"’\a’ \hes a Qa&‘wwb coeliAenk M ) and

w= B (x- Ne) e < \Q&L)\v\% coe N\ Genk L‘S '

h. Are the two parabolas from part (g) similar? Why or why not?

\(85\- WBecause a\ Qax Aoolas ave Swa\ac.

MM N Module 1: Polynomial, Rational, and Radical Relationships ny
CORE™® €ngage

Date: 1/18/15

) This work is licensed under a
© 2014 Common Core, Inc. Some rights reserved. commoncore.org ﬁ.:c BY-NC-SA Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.

482


http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US

NYS COMMON CORE MATHEMATICS CURRICULUM End-of-Module Assessment Task m

ALGEBRA Il

2. The graph of the polynomial function f(x) = x3 + 4x? + 6x + 4 is shown below.
y

E

A

a. Based on the appearance of the graph, what does the real solution to the equation
x3 +4x? + 6x + 4 = 0 appear to be? Jiju does not trust the accuracy of the graph. Prove to her
algebraically that your answer is in fact a zero of y = f(x).

Ne ceal 2ero &QQQ@JS‘EO e Y= -2.
£ = GO R D+ 6D vy
= _8-\\(9—\1\#&
.0

b. Write f as a product of a linear factor and a quadratic factor, each with real-number coefficients.

Dwnce X=-2\s & Zeco, ArL Must e @ Secko.
Divising 0 ooy () aues (4 vyl

xE Ak Z
o, et Lyt 2e ’)=?_
2\ 4 \ 4, )
C(y\= (w;L\(’)Z’ &-’LNA’?.\ dn® N 2 A
X (P
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What is the value of f(10)? Explain how knowing the linear factor of f establishes that f(10) is a
multiple of 12.

C(w)e (Lor)(\oo x2042)

\L o)
\220% B
\< &
LAY \s @ wmulse\e of
o Lneas Sackor OF %yl

P

)\

-
-

VL \vecauwse L (¥ \n=s
And Nel eV when X=l0.
d.

Find the two complex-number zeros of y = f(x).

We teed ko sclue

e.

Write f as a product of three linear factors.

V= (e (- (= Aar o)) (- (= A - 0))

COMMON Module 1:
CORE' Date:

Polynomial, Rational, and Radical Relationships
1/18/15

© 2014 Common Core, Inc. Some rights reserved. commoncore.org

engage"’

ir.:c BY-NC-SA Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.



http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US
http://creativecommons.org/licenses/by-nc-sa/3.0/deed.en_US

NYS COMMON CORE MATHEMATICS CURRICULUM End-of-Module Assessment Task m

ALGEBRA Il

3. Aline passes through the points (—1,0) and P = (0, t) for some real number t and intersects the circle
x? + y? = 1 at a point Q different from (—1,0).

S

a. Ift= %, so that the point P has coordinates (0,%), find the coordinates of the point Q.

“\e S\ope o5 Pa- XY
Lwe 0Q Nas Q%oa_\—lm U* Mo (N
Rovd @ \tes on ds Uine = 1l @nd Wwe Crcle ¥HEg= L
S0, A Az lyea =\
XEr Y (WA |

At e ¥ Lar \ =4
St rlx s =Y

SQince Q@ s \n he Jsk
%ua&(mk , C\oeose 4= % )

2 ;
13’&1*1014_ 5=20 Then LS:LZ-(§+Q'_SL£'
1S %E+ loac x\= \6 e
(e )= o The Qonk QA3 5\.

Sae\z= & o Savl=Y
Sx=7% oc =S

")("1)-50( -\
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A Pythagorean triple is a set of three positive integers a, b, and c satisfying a®> + b? = c?. For example,
settinga = 3, b = 4, and ¢ = 5 gives a Pythagorean triple.

b. Suppose that (%,g) is a point with rational-number coordinates lying on the circle x% + y2 = 1.
Explain why then a, b, and ¢ form a Pythagorean triple.

\Ne \naxe ( 9?_\1-\— ( \'02\1;‘ \
T\ak \s o._L*r\taL____ \ . ~\us 03'-\:-\/01-:6

e—

C‘-‘-
5 A, and & ale ‘\f\%e%e,(s v \as Ly e

2
Q ugc\(\asof can keiple.

5 12
) on the circle?

¢.  Which Pythagorean triple is associated with the point Q = (13 3

a5\, \B

d IfQ= (13 12) what is the value of t so that the point P has coordinates (0, t)?

Nope RQ * E——*“‘ =k ,us\V\ob owWks (-\,6) ans (O

O-(-V)
= o
\S
U'S\'f\ﬂs QOW\"DS ( \'13, \’5\ and ( \.)D\ %\QQQ_@Q = i—-"':—\
\S
L
= \"b = -‘]-:-
e 3
S
~\Aws, L&
3.
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1-t2
e. Suppose we set x = andy =

t2 1+ t2'

for a real number t. Show that (x, y) is then a point on the
circle x? + y2 = 1.

Lt AR
e aeed ke S\nowo L\aX (\ s 1‘«— (—\::{\ e%o«\s Al

NS
\__;Q‘L + (1}: \ \ - Hte N L
e \x X ————\—;::\T‘
A% 2R
e
5

= (L=+\Y )
G

nWe' s e %ooé,\,

3. 1-t? 2t
f. Sett=-intheformulasx =— andy = —;
4 +t

i 2 + 92 =1 does this
give? What is the associated Pythagorean triple?

= 3 L >
:'DC‘E' Xa A= o e = e o
=% o 2

\ ¥ Te =%

(o
owe  0yz LLR) T
a5 T 78

%o (’X;S\ (N (‘LS) =

\I\A .\\‘\2 Q%\‘-\(\Q%O?eqq\ k.(\‘\e \C LS 1) Z}’\)’Z-S .
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g. Supposetis avalue greater than 1, P = (0, t), and Q is the point in the second quadrant (different
from (=1, 0)) at which the line through (—1,0) and P intersects the circle x? + y2? = 1. Find the
coordinates of the point Q in terms of t.

Q ,-\’( 0:’:'\
< ™
L_\ne_% \Nas eﬂl)ua.)c\um oe Jk.(%‘-—h _ ma(;cl.m /

Qowak Q@ \ies on N\we L\_‘w-:,_e Az laad)
and Nhe Grde K *—‘ﬁ = \.
%, x> B‘("ﬂ-\'\\.":\ « Se\ulngy Soe % %
it et (A L)z \
(\Wa-)ots 2 e K5-\ 70

R S S@"'.q(\\.,_\a— (=0 _ - k—, x ;Sl:‘*-(’c. ) -k

x = W AT - \ vk*™
’)_( ~ hl\ L > \
X = \-E"’;- o¢ x==\. Snce loe ewe \oo\c.‘mg)cxor & Pb\.\f\)c
\ ¥ T
S =

60\0356\%56&05 Voack o fhe eqyuaken of ULne 0Q,
Ak,
n= & *\)

Vet
-\ -
-E( \ Fi & \
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\ ™ -kt 2k
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4.

a.  Write a system of two equations in two variables where one equation is quadratic and the other is
linear such that the system has no solution. Explain, using graphs, algebra, and/or words, why the
system has no solution.

Uy
="M ;
-\ ' N
%7 F 4
Sxom e OA“'G‘Q\'\’ A\ese Lwo corves Ao w\.,,lc
Laker secs , AN S S0 A\ece S No soelLoNen ‘o
s Soskemn  of e"bua‘:‘wns .
b. Prove that x = v—5x — 6 has no solution.
T A= J-5x-6 \Ne\as $or  somme umdec X,
Wonnoe oo .
T\(\&E \S» /\(_7- Y Sxr=0O
(xx D) (xx2) =0
== O¢ = "L
WBots = "3 does nok Work . -~ 3 F d \S-b
A AX=-2L do -
awn €S ek Work . =2 2 Jio-o -
Do FYhewe \s po seludion al\er &\,
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c. Does the following system of equations have a solution? If so, find one. If not, explain why not.
2x+y+z=4
x—y+3z=-2
—x+ty+z=-2

B
OB » dx=06
=L

@ LIV ¥y 2=\ = WA 2= 0
@ 1 -0, +3e=2D ~Y+32=7
@ - *u\6+2=-1% U & =0
OB » «qz=™ ~

=\ = UB-"' ES

C\neck. L\ o\-\ =4 v
TL=x~8s~2 ¥
~L x\~\ =220 ¥

The solodea s (Z34L,-0).
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